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Exercice 1

Développer et réduire les expressions suivantes.

A= (2z+9)?
B=(xz+7)(—2z+8)
C = (2x —10)?
Exercice 2

Développer et réduire les expressions suivantes.

A= 9z —5)(9z +5)

B=(5z—9)?
C = (10x + 3)?
Exercice 3

Développer et réduire les expressions suivantes.

A=(z—-T7)(-2z—1)
B=(9z+2)?
C=(6z—-5)(6z+5)

Exercice 4

Développer et réduire les expressions suivantes.

A=Q2x4+9)(x+4)
B=(Bx+3)(bz—3)
C=(Tr—1)>

Exercice 5

Développer et réduire les expressions suivantes.

A= 8z+8)(8x—18)
2

B=(5x—6)
C=3x+9)>
Exercice 6

Développer et réduire les expressions suivantes.
A=(10x—7)(10x +7)

B=(6z—8)?

C = (x +6)>

= (102 — 8) (10 + 8)
Bz —4)2+ (z—2)(—z+3)
=Tz —8)(Tx+8) + (6x +4)*

D
E
F

D=@Bxz+8)(6z—-28)
E=5Bz—-6)(bx+6)— (4 —8)(Tx—38)
F= (102572~ (Tz+7)?

D= (5z—7)>
E= 4z —8)?%+(—4z—10)(-3z—9)
F=(Tz+3)?2*+5Br+9)(52-09)

= (7Tz+5)>
(T2 +9)?2+ (5z —10)?
=Bz —T7)Bx+T7)+(x+4)(-bz+5)

D
E
F

D = (z+10) (9z — 10)
E=—-9z—4)?%+Bz+4)?
F=@+7)(-2z-5)+(6x—2)(6z+2)

D= (-10zx+5)(-=7z—9)
E=—(-7x+9)(6x—3)— (5z + 10)*
F=—3z+10)3z —10) + (22 —9)?
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Corrigé de I'exercice 1

Développer et réduire les expressions suivantes.

A= (2x+9)? C = (22 —10)?
A=(22)> +2x 22 x 9+ 9 C=2x)?—-2x2zx10+ 10
A=42*+362+81 C =4z*—40z + 100
B=(z+7)(-2z+38) D= (10z —8) (10 + 8)
B= -2z 4+8x+ (—142) + 56 D= (102) — &

— 92

B=—-2x"—6x+56 D =1002> — 64

E=@Br—4)?+(@x—2)(~z+3)

E=0Bz)?—-2x32zx44+42+ -2 +32+22+ (—6)
E=92>—-242+16—-2>+52—6

E=8z>—-192+ 10

F=Tx—8)(Te+8)+ (6 +4)
F=(Tx)> =8+ (62)° +2x 6z x 4+ 42
F =492 —64+362% + 482 + 16

F =852%+ 48z — 48

Corrigé de I'exercice 2

Développer et réduire les expressions suivantes.

A= (92 —5)(9z +5) C = (10z +3)?
A= (9z)% -5 C=(10x)* +2x 10z x 3 4 32
A=812"-25 C=1002%+60z +9
B=(5z—9)? D=Bz+8)(6z—28)
2 2
B=(5r)"=2x5xx9+9 D =182 + (—24x) + 48z + (—64)
_ 2

E=0bz—-6)(bzx+6)— (4 —8)(Tx—38)

E=(5z)— 62— (2822 4+ (=32z) + (—56z) + 64)
E =2522 —36 — (282% — 88 + 64)
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E =252 —-36—282% + 88z — 64

E=—-32°+88xz — 100

F=(10z—5)?—(Tz+7)>
F=(102)?=2x10xx5+52—((T2)*+2x 7z x7+7%)
F =1002 — 100z + 25 — (49 2% + 98 2 + 49)

F =100x2 — 100z + 25 — 4922 — 98 2 — 49

F=>5122—198z — 24

Corrigé de I'exercice 3

Développer et réduire les expressions suivantes.

A=(z—7)(-2z—1) C=(6x—5)(6z+5)
A= 22>+ (—z)+ 14z +7 C = (6z)* -5
A= 222413247 C =36z2—-25
B=(9z+2)? D=(5z—7)>
B=(92)+2x9z x2+2 D=(52)"—-2x5xx7+T7
. 2
B=8lz"+36z+4 D =2522 —70x + 49

E= (4 —8)2+ (—4x —10)(=3z —9)

E=4z)?—2x4z x8+8 +122% + 362 + 30z + 90
E=162> —64z + 64 + 1222 + 662 + 90

E=2822+2x+154

F=Tz+32+(5Bz+9)(5z-9)
F=(Tz)?4+2x7zx3+3%+(5z)* -9
F=492%+4224+9+ 252> — 81

F="T42>+422 — 72

Corrigé de I'exercice 4

Développer et réduire les expressions suivantes.

A=Q2z+9)(r+4)

) A=222+17x+ 36
A=22"+8x+92+ 36
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B=(5x+3)(5x—3) C=(Tzx—1)>
B = (5z)* —3? C=(Tz)*—2xTxx1+412
B=2522—-9 C=492> - 14z +1
D = (Tz+5)?
D=(Tz)*+2x7xx5+5
D =492% +70x + 25

E=(Tz+9?2+ (52 —10)

E=(T2)? +2xT7ex 94924 (52)* = 2 x 52 x 10 + 10
E=492> + 1262 + 81 + 252% — 100 + 100

E=742>+26x + 181

F=8x—78z+T7)+(z+4) (-5z+5)
F=8xz)?-7+-5224+5x+(—-20z) +20
F=642% —49 — 522 — 152 +20

F=5922 152 — 29

Corrigé de I'exercice 5

Développer et réduire les expressions suivantes.

A= 8x+8)(8z—8) C=(3z+9)
A= (8z)* -8 C=@Bx)?+2x3zx9+09

A =642 —64 C=92"+54x +81
B=(5z—6)? D = (x4 10) (9 — 10)

2 2
B=(0z)"-2x52x6+6 D =9z%+ (~10z) + 90z + (—100)
_ 2 _
B=252"—-60z+ 36 D=922+80x— 100

E=—9z—4)>2+3z+4)?

E=—(92)—2x92x4+4%)+ (3x)*+2x 3z x4+ 42
E=—(812° —72x +16) + 92 + 242 + 16
E=-8122+72x — 16 +92% +24x + 16
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E=-722°+92

F=(@+7)(-2x—-5)+ (62 —2)(6x+2)
F=—222+(—5z)+ (—14z) + (—35) + (62)* — 22
F=-22*-192 — 35+ 362 — 4

F=342>-192 — 39

Corrigé de I'exercice 6

Développer et réduire les expressions suivantes.

A=10x—"7)(10z +7) C = (z +6)>
A= (10z)* - 72 C=2>+2xzx6+6
A =100z% — 49 C=2*+12z+ 36
B = (6z —8)* D= (-10z+5)(~7z—9)
2
B=(62)"—2x6zx8+8 D =7022+ 90z + (—352) + (—45)
B=362"—96x + 64 D — 7022 + 552 — 45

E=—(-Tz+9)(6x—3)— (52 + 10)?

E=—(—4222 4212z +54x + (=27)) — ((5x)* +2 x 52 x 10 4 10?)
E = —(—422% 4+ 752 — 27) — (2522 + 100 z + 100)
E=422> — 752+ 27— 252> — 100z — 100

E=172>-1752 — 73

—(3z 4+ 10) (3z — 10) + (2 — 9)?
—((3z)? —10%) + (22)* =2 x 22 x 9+ 9°
—(92% —100) 4+ 42° — 36z + 81

F=-922+100+42% - 36z + 81

F=—-52>—36x+ 181
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